
1-   √5 (
√45+√15

√3
−

√75+3

√5
) =? 

 

 

2-  
1

1−2√𝑥
= 3               𝑥 =? 

 

 

3- 𝑝(𝑥) = 𝑎𝑥2 − 28𝑥 + 12𝑎 

    𝑝(𝑏) = 𝑝(6𝑏) = 0      (𝑎 + 𝑏) =? 

 

 

 

4-        2𝑎 = 𝑏                  𝑎. 𝑐 = 54 

         2𝑏 = 𝑐 − 6          𝑎. 𝑏 = 𝑑 

         𝑑 =? 

 

 

5-          KL6                       K+L+M=? 

          ×     M 

       5MMM 

 

6-   ||x| − |y|| = 5|x| 

      |y − x| = 5   

       x.y=? 

 

 

 



7-   (𝑥 + 2𝑦)2 = 4𝑥𝑦 + 9 

       2𝑥2 − 3𝑦2 = 7 

       𝑥2 + 𝑦2 =? 

 

 

8-    0 < 2x < y 

|2x − y| = 7 

|y − 5x| = 37 

x+y=? 

 

 

9-     2AB     5                2AB     8       2AB     9                      A.B=? 

    

             4                            4                              5 

 

 

 

 

10- 4                     g(x)= 𝑎𝑥2 + 𝑎𝑥 + 𝑏  

                                        2                                                  a=? 

 f(x) 

                                                1                    3 

 (g+f)(x)    

 



11-   f(x-3)=x              fof(a)=g(6) 

        g(x)=2x+1           a=? 

 

 

12-          3b+ac=18 

                3a+bc=18           a.b.c=? 

                2c+ab=12 

 

 

13-           A.B.C < A.B < 0 < 𝐴2. 𝐵2 < 𝐴. 𝐵2 

                 ? < ? < ? 

 

 

 

 𝑦 =
𝑥+12

𝑎
  

14-                                          3  

 |AB| =? 

                  A                                               B 

 y= -ax+6 

  

 

 

 

 



 A B 

15-             2         3                    9                         X = {7,8,9,11}   ------->   X=? 

                  10        4                    11 

                                         12 

                   7          8          6 C 

 

 5 1 D 

 

 

16-    f(x) = 2x-1 

         g(x) = -3x+4 

         fog(0) + gof(1) =? 

 

17-    
𝑥2+7𝑥+12

𝑥3+6𝑥2−7𝑥
 .

𝑥3+8𝑥2+7𝑥

𝑥2+5𝑥+4
=?   

 

 

18-     24𝑥−10. 52𝑦+1 = 500                      𝑥 + 𝑦 =? 

 

 

 

19-     

4

11
+

4

3
7

3 
 .  

8

5

=? 

 

 



20-    
𝑥+1

2
−

𝑥+1

4
≤

2

𝑥−6
             max(x)=? 

 

 

21-  𝑥8 + 2𝑥6 − 𝑥4 − 2𝑥2 + 𝑎 + 4            𝑥2 + 2                          a=? 

 

                                                           2 

 

 

 

 

22-     
10!−2.8!

6!.7+4.6!
=? 


